[EEfE]

BEIFE - EEGFRILEM - HE - AE BIFLE
2 0 L # 3 £ % £l 3% £ R
£ (FO) SH75E SH65E 15 P51 SH7HE SH64E 3B P SH7HE SH64E b b5
48X 48K % ] % 48X 48K % 0 % 48X 48X GIEM))
E E L OFE 47 43 4 9.3 46 27 19 70.4 97.9 62.8 35.1
® A 7 1 6 600.0 7 1 6 600.0 100.0 100.0
5f & 2 2 1 2 -1 -50.0 50.0 100.0 -50.0
)i X 1 2 -1 -50.0 3 2 1 50.0 300.0 100.0 200.0
TRIEMRE 17 14 3 21.4 17 12 5 41.7 100.0 85.7 14.3
BREEIRE 2 3 -1 -33.3 4 4 - 200.0 200.0
TRIEHLWLVED 18 21 -3 -14.3 14 10 4 40.0 77.8 476 30.2
EEHZEPL 505 438 67 15.3 94 308 -214 -69.5 18.6 70.3 -51.7
B A B 437 405 32 7.9 77 284 -207 -72.9 17.6 70.1 -52.5
FEXZR 203 187 16 8.6 19 92 -73 -79.3 9.4 492 -39.8
ToE B 164 132 32 242 17 59 -42 -71.2 10.4 447 -34.3
B R H 37 54 -17 -315 2 32 -30 -93.8 5.4 59.3 -53.9
B = % 2 1 1 100.0 1 -1 -100.0 100.0 -100.0
z DO i 234 218 16 7.3 58 192 -134 -69.8 24.8 88.1 -63.3
B & E & 59 25 34 136.0 11 23 -12 -52.2 18.6 92.0 -73.4
[03=Y K] 1 1 4 4 - 400.0 400.0
El Y 8 7 1 14.3 2 1 1 100.0 25.0 14.3 10.7
£4 (£0) . i A £ %
SH75E SH65E ] P51 SH7HE SH64E # P51 SH7HE SH6E 1B 51
48X 48X A = % 48K 48X A =] % 48K 48X A = %
E Z N F 43 23 20 87.0 43 21 22 104.8 2 -2 -100.0
% A 7 7 - 7 7 -
8 & 1 3 -2 -66.7 1 3 -2 -66.7
)i X 1 2 -1 -50.0 1 2 -1 -50.0
FRIEMRE 17 10 7 70.0 17 9 8 88.9 -1 -100.0
BREGEIRE 4 4 - 4 4 -
AEIEHWNED 13 8 5 62.5 13 7 6 85.7 1 -1 -100.0
EEHGEL 37 48 -11 -22.9 31 45 -14 -31.1 6 3 3 100.0
g A B 29 38 -9 -23.7 23 35 -12 -34.3 6 3 3 100.0
FEXR 10 13 -3 -23.1 8 12 -4 -33.3 2 1 1 100.0
T oE B 10 10 8 9 -1 1141 2 1 1 100.0
B R & 2 -2 -100.0 2 -2 -100.0
B = % 1 -1 -100.0 1 -1 -100.0
F 0O i 19 25 -6 -24.0 15 23 -8 -34.8 4 2 2 100.0
B & E & 4 10 -6 -60.0 4 10 -6 -60.0
Dot=<K Y 1 1 - 1 1 -
El Y 3 3 - 3 3 -




